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0 — H'X,p,) — H'(X,G,,) = H'(X,G,,)
— HYX, ) = HY(X,Gp) — HY(X,Gyn)
— HY(X, ) = HY(X,Gp) — H*(X,Gy) —

0000000000HYX,G,) = Pic(X).
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0 — Jacx(F) — Pic(X) = Z — 0

Jacy 0 XOOUOOOOOOFOO AbelOOOTAbelUODO0OO0O00O0O0O0O0O0O0O0OO
0000Jacx0OOO g0O00000HY(X, u,) = Jacx[n] = Ker([n] : Jacx — Jacx) ~
(Z/nZ)*. g0 XOOOOHY(X, Q1)) = H'(X, Ze(1))®2,Qe, H' (X, Zy(1)) = lim ,, H' (X, pin)
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Tsen0 O OO0 H*X,G,,) =0000 H*(X, u,) ~ Z/nZ.

proper base change theorem OO0 0 O0FOO00000OOHYU, F)DOOOOOO
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Xe(U, F) = x(U, F).



